BEAD GEXEF - BTT )

F04F TR | H
b 1 X % # F O A | 5 7T

B 7 B o X 6,701 13,379 6,972 6,407

X B # K 1,178 2,908 1,435 1,473

£ P 1 K 577 1,473 752 72|

N RO K 993 2,666 1,356 1,310

Bl %&£ # K 6,874 14,900 7,299 7,601

Nn |’ R # X 1,287 3,119 1,516 1,603

ik x M # K 1,048 2,494 1,229 1,265

it & & # K 7,877 18,809 9,035 9,774

BE o M o X 6,310 16,034 8,007 8,027

& 5 32,845 75,782 37,601 38,18
Lf4FETH B

w X 4 B T A& tH F A ] B8 %z

BE 7 U X BETEIATA 4,503 9,326 4,686 4,640
¥ P | 84 345 196 | 49

w® B 439 852 435 4117

£ L o H 737 1,322 823 499

g R H 287 506 273 233

% H] 551 1,028 559 469

o ORX 3 6,70 | 13,379 6,972 6,407

N E # X = B 89 219 110 109
X & 812 1,99 | 980 1,011

= # 143 366 180 186

+ K 18 #r 8 |34 332 165 167

A - S 1,178 2,908 1,435 1,473

k P # K ® B H 138 355 180 175
& fF 16 39 17 22

¥ @\ H | 24 406 195 211

& & H a5 233 112 121

R HT | 34 275 163 112

K & 70 165 85 80

e K 3 577 1,473 752 72|

N R O X N R H] |79 424 216 208
BN R H | 45 394 199 195

7 PR HT 31 74 35 39

B R ¥ 463 1,323 684 639

g B 65 1 80 87 q3

F BT |10 27| 135 136

o K 3 993 2,666 1,356 1,310
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BEAD GBXF - BT T35

Sf4FETH B
i K % Bq T 4% #HF B | A = B -8
Bl % i X Bl K 633 1,539 749 790
F9 & %7 B 8T | 2 2 0
A i HT 163 420 202 218
m v B 716 1,640 798 842
& % 6 933 2,185 1,009 1,176
Bl 4% H 100 401 160 24|
= & 1,908 3,930 1,969 1,961
EZEE | TB 226 424 211 213
B 2TB8B 425 864 4217 437
8 3 T8 460 776 395 381
8 4 TB 717 1,382 715 667
MW I 30 18 12
NGB OFE S HT 425 909 448 46|
FE EC & %7 E 0T 17 44 18 26
N wE o ET 139 354 178 176
o X 6,874 | 4,900 7,299 7,60 |
IR K3t B R AR ET 1,287 3,119 1,516 1,603
#H K3 1,287 3,119 1,516 1,603
it XX R i X & ¢ € 77 234 1 20 | 14
& ¢ ¥ @ ] 64 151 72 79
A Bk OE T 110 259 123 136
2 @\ 64 150 76 74
it # H 73 202 100 102
¥ R 31 87 44 43
& ‘A 63 181 q3 88
X B 6 18 7 I
e | TH 92 188 qq 89
a2 TH 90 202 93 109
ENaE3TAH 108 215 |04 |11
e 4 TH 132 305 148 157
maAES5TH 54 122 60 62
a6 TH 84 180 90 q0
A - G- 1,048 2,494 1,229 1,265
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FEAD (R F - BT 3
F04F TR | H
H B % Bq T 4% #H HF R A = B -8
LtES®RE | EWw I TH 183 410 197 213
£EWL2TBH 203 463 211 252
£WL3TBH 179 404 207 197
£ 4 TBH 339 900 393 507
£WL5TAH 270 620 294 326
fFWL6TRH 281 682 347 335
£WL 7 T8 232 576 281 295
£WL 8 TBH 274 620 308 312
WmEITB 433 925 429 496
WmwWE2TB | 29 342 16| 181
W¥E3ITBHE 233 525 273 252
WwWE 4 TB | 54 363 176 187
W¥ESTBH 244 576 276 300
WwW¥E6TRBH 265 636 295 341
NS T B 30 67 35 32
IN% 2 TH 349 q12 455 457
N3 T B 183 408 210 198
NS4 T B 566 1,228 565 663
&1 TH 201 474 236 238
& 2T7TEH 234 586 283 303
&3 T7TEH 139 333 177 156
& 4T7TH 264 687 329 358
&5 T7H 188 436 19 245
BARE | TH | 84 480 24 | 239
BRE2TH 21| 576 279 297
vHRE3ITHE 69 185 ql q4
BARE4TH 201 46| 220 241
PHRESTH 292 777 359 418
Afk& | TH |59 396 196 200
A& 2TH 168 422 213 209
A& 3TH 346 813 403 410
AfR&4TH 674 1,526 704 822
# X E 7,877 18,809 9,035 9,774
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BEAD GBXF - BT T35

F04F TR | H
H B % Bq T 4% #H HF R A = B -8
Ry MR | @yl TH 168 756 501 255
BT E2TH 165 42| 215 206
By aE3TH 191 454 230 224
o BE4TH 280 759 363 396
BT ES5TH 338 827 379 448
By R 6TH 322 qlé 467 449
By ETTBE 418 I, 146 590 556
W/ NI TE 287 708 333 375
W/ N2TH 225 568 274 294
W/ N3TH 364 989 482 507
W/ N4TH 286 767 376 391
W/ N5TH 273 730 363 367
wr e TH 509 1,127 559 568
WrE2TH 445 996 490 506
wrE3TH 355 1,016 512 504
WwWrE4TH 316 545 26| 284
B¥ | TB 272 720 360 360
B¥2TBH 442 1,037 519 518
BR3TAH 300 750 376 374
B¥ 4 T8 336 618 302 316
wE | TH | 138 33 105
v B 3 TH |7 46 22 24
#H K3 6,310 16,034 8,007 8,027
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